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Bapuant 1

Choose the correct answer.

I didn't tell you about the possibility of the trip because I didn't want to your hopes.

1 lift
2 raise
3 boost
4 rise

Choose the correct answer.

The company is expected a healthy profit this year.

1 to make

2 make

3 making

4 have made

Choose the correct answer.

When my brother phoned, he sounded like he quite a shock.

1 had

2 had had

3 had been having
4 would have

Choose the correct answer.

bann


https://abiturient.kpfu.ru/entrant/high_edu.priem_cabinet?p1=3958&p2=992613575&p_h=5FD58B6B3ADA4EC03CA4486F2BC9F332&p_sbj=1691&p_id=115821&p_question_type=1&p_answer_count=4&p_tp=quest_form
https://abiturient.kpfu.ru/entrant/high_edu.priem_cabinet?p1=3958&p2=992613575&p_h=5FD58B6B3ADA4EC03CA4486F2BC9F332&p_sbj=1691&p_id=115822&p_question_type=1&p_answer_count=4&p_tp=quest_form
https://abiturient.kpfu.ru/entrant/high_edu.priem_cabinet?p1=3958&p2=992613575&p_h=5FD58B6B3ADA4EC03CA4486F2BC9F332&p_sbj=1691&p_id=115823&p_question_type=1&p_answer_count=4&p_tp=quest_form
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I didn't think my plan was going to work, but everything into place at the right time.

1 went

2 moved
3 fell

4 stepped

104 | Choose the correct answer.

I at the exam paper lying on the teacher's desk. But | didn't want to risk it.
1 could look

2 can look

3 can have looked

4 could have looked

105 | Choose the correct answer.

Was he really justonthe point 2
1 of resigning

2 to resign

3 with resignation

4 of having resigned

106 | Choose the correct answer.

The lecture was interesting. But | found the argument quite difficult to
1 track

2 watch

3 follow

4 listen

107 | Choose the correct answer.
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If you hadn't taken the money, you in prison now.

1 wouldn't have been
2 hadn't been

3 haven't been

4 wouldn't be

108 | Choose the correct answer.

It's hard to believe that this film completely by computer.

1 was been generating
2 has generated

3 has been generated
4 was to generate

109 Choose the correct answer.

She her school bag from the table and rushed out of the house.

1 clenched
2 grabbed
3 grasped

4 punched

110 | Choose the correct answer.

No teenager really knows what for them career-wise in the future.

1 divesin
2 ends up
3 lies ahead
4 takes on

1111 Choose the correct answer.
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Who wrote the book 'The Catcher in the Rye'?

1 Jerome David Salinger
2 Mark Twain

3 Charles Dickens

4 Agatha Christie

112 | Choose the correct answer.

Who wrote the book 'Oliver Twist'?

1 Charles Dickens

2 Theodore Dreiser

3 Jerome David Salinger
4 Lewis Carroll

113 Choose the correct answer.

What misfortune fell upon London in 16667

1 The Great Flood

2 The Plague

3 The Great Fire

4 The Great Depression

114 | Choose the correct answer.

was one of the two main political parties in Britain from the 1670s until the 1830s?

1 The Wigs

2 The Tories

3 The Labour Party
4 The Liberal Party

115 Choose the correct answer.
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The Highlands are in

1 the south of Wales

2 the north of Scotland
3 the north of England
4 the north of Wales

116 | Choose the correct answer.

Make sure you mix the ingredients well, you might get lumps in your cake.

1 unless

2 otherwise
3 provided
4 supposing

117 | Choose the correct answer.

The new regulations have - up a number of problems for the company.

1 come

2 thrown
3 got

4 moved

118 | Choose the correct answer.

In recent years, teachers and parents have become more concerned about the problem of . (It happens when one pupil (or a group) threatens
and sometimes attacks a younger, weaker or more timid pupil.

1 truancy

2 bullying

3 expulsion

4 skipping lessons
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Choose the correct answer.

Find in the words below the synonym to the word ‘fare'?

1 light hair
2 market or exhibition
3 justified

4 a range of food of a particular type

Choose the correct answer.

She didn't understand what | was driving

1to

2 at

3 over

4in

Choose the correct answer.

There are a number of changes
lon

2 at

3 by

4 for

Choose the correct answer.

Jimmy is only six, but he comes
lin

2at

3 out

4 over

the way, and I'm afraid a lot of people will become unemployed.

with the funniest things sometimes.
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Choose the correct answer.

By the end of next month Sheila and | out with each other for three years.

1 will have been going
2 will go

3 have been going

4 will be going

Choose the most appropriate verb.

It turned out that | have bought him a present at all.

1 mustn't

2 oughtn't
3 needn’t
4 mightn't

Read the passage. Then fill in the gaps with the appropriate part of the sentence.

Life in 2045

The film, Back to the Future I, released in 1989, made a series of outlandish predictions about 2015, the year its key characters travel to from 1985.
Although several of the film's predictions, like video calls and wearable technology, came true, Back to the Future 11 showed 1) The world
of 2015 was one of hoverboards, flying cars and power clothing, and instead 2) . Several experts have made their predictions about what the
world of 2045 will look like. Alex Ayad, head of Imperial College London's Tech Foresight Practice forecasts that people will be able to purchase
high-quality emotions online. Emotion-sharing experiences are 3) . Imagine your friend at a music festival can post a photo on
Instagram and with it comes bundled a faint twinkling of what she was feeling right there in that moment, so you too can share emotionally in her
social experience. Recently, techniques for direct brain stimulation, like optogenetics, 4) . At the moment data transfer rates are still
very slow, the best we can do is a few bits per second, but this could well increase to kilobits or maybe reach broadband speeds by 2045. This means
the range of human perception could 5)

A. the latest fad in 2045

B. expand beyond its current design limit

C. the pitfalls of making long-term forecasts.

D. have made it possible to not only read but also write information into single neurons

10
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https://abiturient.kpfu.ru/entrant/high_edu.priem_cabinet?p1=3958&p2=992613575&p_h=5FD58B6B3ADA4EC03CA4486F2BC9F332&p_sbj=1691&p_id=115845&p_question_type=1&p_answer_count=4&p_tp=quest_form
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E. we got Snapchat and selfies

[Mony4umBIIyrOCS OCIIEA0BATEIBHOCTS OYKB BBECTH 3arjlaBHBIMH, Oe3 po0eioB u apyrux cumBouioB (Hampumep: DCABA).
CEADB

Match the units of measurement of the British Imperial System with the international system of metric units of measurement. There are some extra
options.

1) 1 ounce

2) (UK) 1 stone (=14 pounds)
3) 1 pint

4) 1 pound (=16 ounces)

A) 600 g

B) 0.6 litres (UK) 10
C)28¢g

D) 0.9 litres

E)50¢g

F) 6.5 kg

G) 450 g

[Mony4uBIIyIOCS TIOCIIEAOBATEIBHOCTS OYKB BBECTH 3arjlaBHbIMU, O3 MPpo0OerioB u Apyrux cumBosioB (Hanpumep: DCAB).
CFBG

Match each thing with an appropriate verb from the right-hand column. There are some extra verbs.

1) a toilet

2) a violin string

3) a pendulum

4) a problem 10
5) a kettle

6) a night

A) falls
B) strikes


https://abiturient.kpfu.ru/entrant/high_edu.priem_cabinet?p1=3958&p2=992613575&p_h=5FD58B6B3ADA4EC03CA4486F2BC9F332&p_sbj=1691&p_id=115847&p_question_type=3&p_answer_count=1&p_tp=quest_form
https://abiturient.kpfu.ru/entrant/high_edu.priem_cabinet?p1=3958&p2=992613575&p_h=5FD58B6B3ADA4EC03CA4486F2BC9F332&p_sbj=1691&p_id=115848&p_question_type=3&p_answer_count=1&p_tp=quest_form
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C) swings
D) bounces
E) flushes
F) stretches
G) vibrates
H) boils

1) arises

J) hatches

[MToay4yuBIIYIOCS [TOCIEIOBATEIPHOCTh OYKB BBECTH 3arjlaBHBIMH, 03 mpoOeioB u Apyrux cumBojioB (Hanmpumep: DCABEF).

EGCIHA

Match each thing with an appropriate definition from the right-hand column.

1) Twelfth Night
2) Tesco

3) The Old Bailey
4) The Big Four
5) Popsicle

6) Pearly King

A) a common name for the Central Criminal Court in London

B) the collective name given to the UK's largest banks

C) a popular US make of sweet flavoured ice on a flat stick, called an ice lolly in British English
D) the play by William Shakespeare

E) one of Britain's largest chains of supermarkets

F) a man who on special occasions wears clothes covered in thousands of small shiny buttons

[MomyuuBIyrocs mocieaoBaTenbHOCTh OYKB BBECTH 3arjlaBHBIMU, O3 Mpo0eroB u Apyrux cumMBoioB (Hanpumep: FEDCBA).

DEABCF

Select the best idiom to complete each sentence.

1) The band of thieves who got into the building . It's too bad the security guards weren't more alert.
2) What a relief! Final exams are finally over! Let's go out and

10

10
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3) Come on; stop moping about your recent misfortune. I It's not like you to let a problem like that get you down.
4) You say you ? Sure. | paid cash for it and avoided the internet charges.
5) Well, how did you enjoy your vacation to Bermuda? Great! | I Now I'm ready to get back to work.

A) Come alive!

B) got it for a song

C) got away clean

D) feel like a million dollars

E) paint the town red

[Mony4uuBIIyIOCS TIOCIIEA0BATEIBHOCTS OYKB BBECTH 3arjlaBHbIMU, O3 po0eroB u Apyrux cumBosioB (Hanpumep: DECAB.
CEABD

Bapuant 2 Bann

Choose the correct answer.

The colour of the computer is besidethe . I want it to be reliable.

1 point 2
2 subject

3 theme

4 idea

Choose the correct answer.

Why don't you make a doctor at your arm if it's hurting you.

1 looking 2
2 look

3 been looking

4 to look

Choose the correct answer.

It might sound strange, but the party yesterday was the first time | shrimps.
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1 was eating
2 have eaten
3 have been eating
4 had eaten

203 | Choose the correct answer.

When | got the opportunity to go Japan, | at the chance.

1 moved
2 jumped
3ran

4 stepped

204 | Choose the correct answer.

You have let us know you'd changed your phone number.

1 may
2 could
3 would
4 will

205 | Choose the correct answer.

| find out more information before we make a final decision?

1Dol

2 Will |

3 Shall |

4 Am | due to

206 | Choose the correct answer.

We were enjoying the barbecue but the weather started to cold.
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1go
2turn
3do
4 make

207 | Choose the correct answer.

Unless Ray here soon, I'm going to leave because I'm getting bored.

1 doesn't get
2 gets

3 won't get
4 will get

208 | Choose the correct answer.

Joining a gym , but I really didn't fancy the idea.

1 was suggested me

2 was suggested to me
3 to me was suggested
4 was suggesting me

209 | Choose the correct answer.

As the train left the station, Mary .......... goodbye.

1 waved
2 gestured
3 pointed
4 clenched

210| Choose the correct answer.

If the business does well, she will be able to a part-time assistant in the spring.
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1divein

2 knock off
3end up

4 take on

2111 Choose the correct answer.

Who wrote the book 'lvanhoe'?

1 Sir Walter Scott

2 Charles Dickens

3 Lewis Carroll

4 Jerome David Salinger

212 | Choose the correct answer.

Who wrote the book "Alice's Adventures in Wonderland'?

1 Mark Twain

2 Lewis Caroll

3 Pamela L.Travers
4 Theodore Dreiser

213 | Choose the correct answer.

What misfortune fell upon London between 1664-1665?

1 The Great Flood

2 The Plague

3 The Great Fire

4 The Great Depression

214| Choose the correct answer.

Who is the head of the Cabinet in Great Britain?
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1 the Queen

2 the Prime Minister
3 the MP

4 the Speaker

215/ Choose the correct answer.

Lake Districtis in

1 the east of Wales

2 north-west of England
3 the west of Scotland

4 the south of England

216 | Choose the correct answer.

We on the beach now if we hadn't missed the plane.

1 might have lain
2 would lie

3 could be lying

4 would have lain

217 | Choose the correct answer.

He won the election all the odds.

1 against
2 despite
3 without
4 below

218 | Choose the correct answer.

A - school is called so because students live there during term-time.
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1 day

2 state

3 technical
4 boarding

219 | Choose the correct answer.

Give the synonym to the word 'garment'?

1 national food
2 clothes

3 agame

4 a gundog

220 | Choose the correct answer.
We will be writing to you due course with detail of your contract.

lon
2 at
3in
4 fairly

221 | Choose the correct answer.

We didn't manage to book anything, so we just have to trust luck.

1lto
2 by
3on
4 at

222 | Choose the correct answer.

I've decided to have a few lessons to brush ........ my German.
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223

224

225

lin

2 out
3up
4 over

Choose the correct answer.

Our plane tickets never arrived, - in the post.

1 were lost 5
2 having lost

3 had been lost

4 having been lost

Choose the most appropriate verb.

We have to leave now, because we are due in London by six.
1 being 2
2 to being

3 to be
4 he

Read the passage. Then fill in the gaps with the appropriate part of the sentence.

Life in 2045

Our cities will be made from living, dynamic materials that respond to the environment. In 30 years, tall buildings made of glass and twisted steel

(1) P , In the same way we think now of 1970s concrete tower blocks: ugly, out-dated and unfit for contemporary purpose. The urban environment 10
of 2045 blends architecture with living materials that are mouldable, adaptable, responsive and disposable.

Entirely new synthetic life forms, or biological machines, made of engineered living cells from bacteria, fungi and algae will grow and 2) .......... . They
breathe in pollutants, clean wastewater, and use sunlight to make useful chemicals, energy, heat and vibrant vertical gardens. We will start to see a
convergence between biology and technology, to the point where there is no longer a perceptible difference between the two.

Invisibility cloaks, according to Alex Ayad, 3) ........... . Invisibility has forever been a tantalising prospect. The key to cloaking lies in the way the
electromagnetic spectrum (including visible light) interacts with objects. The human eye picks up electromagnetic radiation that 4) ................ and we
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perceive this as light. In recent decades, scientists figured out using mathematics that it might just be possible to imagine a new class of artificial
materials made of intricate tiny features with light- (and sound-) bending properties. They named them metamaterials. And Tamar Kasriel, founder and
MD of Futureal, a future-focused strategy consultancy, has forecast that we won't be able to tell the difference between VR hoverboards and real
hoverboards. By 2045 quite a few of us might have a hoverboard, but it will be struggling 5) .............. . What we are likely to see is the breakdown of
much of the current distinction between the real and the digital, and the artificial and the human.

A) evolve with the changing needs of a building's inhabitants
B) to compete with the thrill of the virtual reality version

C) falls and scatters from objects

D) will be seen as relics from a bygone era

E) will be used to 'disappear’ ugly objects

[Mony4mBIIyIOCS TIOCIIEAOBATEIBHOCTH OYKB BBECTH 3arjaBHBIMH, O€3 po0eoB u apyrux cumBoiioB (Hampumep: DCABA).
DAECB

226 | Match the units of measurement of the British Imperial System with the international system of metric units of measurement. There are some extra

options.

1) 1inch

2) 1 yard (=3 feet)

3) 1 foot (=12 inches)
4) 5 miles

A) 30 cm 10
B) 8 km

C)2.5cm

D) 15 km

E) 90 cm

F)4.5cm

[MomyumBHIyrOCS MOCIIEA0BATEIbHOCTS OYKB BBECTH 3arjlaBHBIMU, O3 Mpo0eroB u Apyrux cumBoioB (Harnpumep: DCAB).
CEAB

227 | Match each thing with an appropriate verb from the right-hand column. There are some extra verbs. 10
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1) elastic
2) a war

3) a ball

4) a bird
5) a clock
6) a flower

A) breaks out
B) strikes

C) grabs

D) bounces
E) flushes

F) stretches
G) vibrates
H) boils

I) comes out
J) hatches

[Mony4uuBIIyIOCS TIOCIIEAOBATEIBHOCTS OYKB BBECTH 3arjlaBHbIMU, O3 po0eroB u Apyrux cumBosioB (Hanpumep: DCABEF).
FADJBI

228 | Match each thing with an appropriate definition from the right-hand column.

1) Paddington

2) Old Glory

3) The Old Bailey

4) The Big Four

5) The Taming of the Shrew
6) Queen

A) a common name for the Central Criminal Court in London

B) the collective name given to the UK's largest banks

C) a successful British pop group formed in 70s

D) the play by William Shakespeare

E) a train station in West London

F) a popular name for the US flag, first used by William Driver, a ship's captain from Massachusetts


https://abiturient.kpfu.ru/entrant/high_edu.priem_cabinet?p1=3958&p2=992613575&p_h=5FD58B6B3ADA4EC03CA4486F2BC9F332&p_sbj=1691&p_id=115879&p_question_type=3&p_answer_count=1&p_tp=quest_form

229

[MToay4yuBIIYIOCS [TOCTIEIOBATEILHOCTh OYKB BBECTH 3arjlaBHBIMH, 0¢3 mpoOeioB u Apyrux cumBojioB (Hanpumep: EDCBAF).

EFABDC

Select the best idiom to complete each sentence.

1) Now that they've paid off the mortgage on their house, they can
2) Since Dan owed them so much, he was hesitant to

3) It's no wonder nobody invites you to dinner. With your horrid table manners, you

4) You say you -? Sure. | paid cash for it and avoided the internet charges.
5) None of the kids felt like going anyplace. They all wanted to sit around and

A) turn everyone off
B) cough up the money
C) shoot the breeze

D) kick up their heels
E) got it for a song

[MonyuuBIIyIOCS TIOCIIEI0BATEILHOCTh OYKB BBECTH 3arjaBHBIMH, 0€3 po0esioB u apyrux cuMBoiioB (Hampumep: DECAB.
DBAEC

10
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